Renaissance
Excel 300

Installation Instructions



Pre-Installation Notes

This product must be fixed to the floor and therefore the floor must be a sound, solid and even
surface. The frame stands in the shaded areas shown below, and therefore these areas should be of
sound construction with no buried services, and be capable of accepting 75mm deep fixings.

MS8 x 70mm coach screws would be recommended for fixing to wooden floors.
M10 x 70mm through bolts would be recommended for fixing to concrete floors.

The drawing below also shows the fixing positions where the product will be secured to the floor.
There are four fixings at the seat end and two fixings at the far end of the bath. It is recommended
to position the bath frame first to ensure the holes are in exactly the right position. A 10mm
masonry drill bit should be used for through bolt mounting — drilled to minimum depth of 75mm,
and a 5.0mm to 5.5mm pilot hole approximately SOmm deep should be used for the coach screws.

1670
75 1295 N 300

- 70 -

730
590

- 70 .

30 1370 240 30

This instruction manual consists of the following sections:-

Basic Installation Procedure — Pages 2-3
To be followed when the product can be moved into position without any disassembly.

Electrical Connections — Page 3
This provides detail of the electric installation requirements and procedure, and also important
information regarding the operation of the bath.

Panel Fitting and Final Finishing — Pages 4-6
Information on panel fitting and the final aesthetic touches to finishing the installation.

Excel 300 Installation Instructions — v1.4



Basic Installation Procedure

1. Unpack the product from the crate and move into required position. The fixing holes can now
be marked out through the bath once the ideal position is found. The bath should be moved in
order to drill the floor more easily. Once the holes are drilled the bath can be relocated in the
correct position above the holes.

2. If using through bolts these can now be knocked into the drilled holes leaving approximately

20mm of thread exposed above the bottom plate of the framework. Place a washer and nut on
each bolt and wind down leaving a gap of around Smm for levelling adjustments.

Grub screw

Fixing bolt

If using coach screws then these can be screwed into the floor now, ensuring that a washer is
used in each position. These should be left slack (with a gap of Smm or more) to allow for
levelling adjustments.

There are 6 grub screws, each located next to one of the fixing points, which can be used to allow
for any slight deviations in the floor surface, and also to ensure that the bath is perfectly level.
Ideally the frame will be fixed tightly to the surface of the floor, and the grub screws will not be
required, but it is important that the frame is not distorted by pulling it against an uneven surface,
and the grub screws can be used to take up any gaps which may be present.

3.  With all fixings to the floor left loose and with all grub screws set above the bottom face of the
frame use a spirit level to check that the bath is level from left to right, and from front to back.

4. If the bath is not level, wind down the grub screws (in the 4 corners of the frame only) in order
to lift the bath where required to make it level. At least one corner should remain flush with the
3

Excel 300 Installation Instructions — v1.4



floor. These 4 corner grub screws can now be locked in position by using the locknuts
(ensuring the grub screw does not wind down any further).

The remaining 2 grub screws can now be wound down where required if there are any gaps
under the other 2 fixing positions. This will ensure that when these fixings are tightened that
the frame does not distort. Again these can now be locked in position by using the locknuts.

With all 6 grub screws set and locked in position the bath can now be fully fixed to the floor.
All 6 fixings can now be fully tightened, starting with the four outer corners, and then the two
inner fixings.

The bath can now be checked again with a spirit level to ensure that nothing has moved during
the final tightening of the fixing bolts. If necessary slacken off the fixing bolts, readjust the
screws and then retighten again until everything is level.

Electrical Connections

All electrical installation should be performed by a suitable qualified electrician. The installation
must comply with BS 7671 (Wiring Regs) and Part P of the Building Regs. The 230V AC supply
will require a 30mA RDC with a 4A waterproof switched fused spur (not supplied).

1.

The product comes supplied with a standard 3 pin plug for testing and setting up purposes, but
this must be removed when the product is being installed. The plug should be cut off the cable,
and the cables stripped back for wiring into the power supply. Live, neutral and earth must all
be connected.

The keypad functions can now be tested. The bath is supplied with the seat inside the bath and
so the seat can now be moved out of the bath by pressing the “Seat Out” button on the keypad.
The seat will move up, and will then traverse out of the bath, before lowering completely
outside of the bath.

The “Seat In” button can now be tested to ensure that the seat moves correctly back into the
bath.

IMPORTANT NOTES

The battery backup is contained within the main control box, and is provided to ensure that in the
event of a power supply failure to the bath, limited but necessary function can be completed without
mains power. If there is a power failure, then the following conditions will occur:-

The seat can still be moved outside of the bath

The seat cannot be moved inside of the bath

An audible intermittent beep will be present whenever the bath or seat moves, to indicate
that the bath is in ‘emergency’ state

Excel 300 Installation Instructions — v1.4



The above conditions are in place, to ensure that the user can still be negotiated out of the bath
during power failure, and equally prevent further use during power failure. A bath should not be
commenced whilst relying only on battery power.

In order to ensure the functionality of the battery backup, the product must be kept
connected to the mains and switched on at all times.

Panel Fitting and Final Finishing

1. The front panel should be fitted first. It is fixed to the bath using countersunk woodscrews (#8
x 1 %”), which screw into timber strips which are fitted under the rim of the bath. When fixing
the panel it is important to ensure that it is pushed tight up against the rim of the bath, and each
end should be flush with the ends of the bath. There should also be a gap of approximately
3mm between the bottom of the panel and the floor. The panel itself should sit Smm proud of
the front of the bath. Each screw is finished off with a white cap which pushes into the cross-
head of the screw.

The panel is also secured to the bath framework at the bottom using M6 x 25 countersunk bolts
which screw into the threaded holes on the bath frame. These screws are also finished off with
a white cap.

Countersunk bolts
into bath frame

Excel 300 Installation Instructions — v1.4



If the bath is a detachable seat version, then follow this step. If not, then move directly to
Step 2. When there is a detachable seat present, it is important that the side panel which
contains the pre-fixed magnets is fitted to the ‘seat swing’ side, as shown.

‘Seat Swing Side’

Magnets pre-fitted to
side panel

Excel 300 Installation Instructions — v1.4



With the front panel fitted, the end panel(s) can be fitted. Firstly, these can be secured along
one edge to the front panel using M6 x 40 countersunk bolts, which screw through the front
panel into the threaded inserts located in the holes in the sides of the end panels. As these bolts
are tightened ensure that the end of the front panel is flush with the face of the end panel, and
that the top faces are also aligned. The bolts are finished off with a white cap.

The panels are now further secured to the bath using countersunk woodscrews (#8 x 1 34”),
which screw into timber strips which are fitted under the rim of the bath. It is important to
ensure that the panels are pushed tight up against the rim of the bath before fully tightening.
These screws are also finished off with a white cap.

Finally the panel is also secured to the bath framework at the bottom using M6 x 25
countersunk bolts which screw into the threaded holes on the bath frame. These screws are
also finished off with a white cap. When fitted correctly the end panels should be flush with
the end face of the bath (and the end of the front panel), and the rear edge of the panel should
be flush with the back face of the bath. There should also be a gap of approximately 3mm
between the bottom of the panel and the floor.

Thread insert in
these holes

Countersunk bolts
into bath frame

Excel 300 Installation Instructions — v1.4



3.

To provide the necessary seal to the seat mechanism through the bath, the covering washer
should now be secured in position using white silicone. Lift the washer and ensure that a good
seal is achieved between the bath and the white shaft collar. Then using a small amount of
silicone to secure it, push the washer down carefully and hold into position.

Shaft collar

Cover washer

Excel 300 Installation Instructions — v1.4



Silicone should also be used around the cover washer to provide a neat finish and to prevent
water ingress.

Further silicone can also be used around the joint between the rim of the bath and the panels for
a neat finish.

Renaissance Baths, Pennywell Industrial Estate, Sunderland SR4 9EN

Excel 300 Installation Instructions — v1.4



